
 Copyright © 2020 Omix-Ada®, Inc.

	 Aluminum Inner Fender Liners Rear, JL

Page 1/3

460 HORIZON DR.  |  SUWANEE, GA 30024  |  PHONE: 770-614-6101  |  FAX: 844-270-0593  |  www.Omix-ADA.com

1. Front Driver Side Fender Liner.................... (1)
2. Front Passenger Fender Liner..................... (1)
3. Center Driver Side Fender Liner................. (1)
4. Center Passenger Fender Liner................. (1)
5. Rear Driver Side Fender Liner..................... (1)
6. Rear Passenger Fender Liner..................... (1)

7. M6 U-clip.................................................... (26)
8. M6 x 35mm Allen Head Bolt..................... (10)
9. M6 x 20mm Allen Head Bolt..................... (20)
10. M6 Flat Washer........................................ (34)
11. M6 Ny-Lock Nut......................................... (4)

Components

Part # 11615.62

OMIX-ADA® TECHNICAL SUPPORT
PHONE: M-F  8am - 5pm EST 1-800-449-6649

FOR WARRANTY OR TECH CONCERNS EMAIL: webmaster@omixsupport.com



 Copyright © 2020 Omix-Ada®, Inc.

	 Aluminum Inner Fender Liners Rear, JL

Page 2/3

460 HORIZON DR.  |  SUWANEE, GA 30024  |  PHONE: 770-614-6101  |  FAX: 844-270-0593  |  www.Omix-ADA.com

3. Attach the front panel to the other two panels 
from step two. Use 20mm allen head bolts and 
don’t fully tighten at this time.

2. Attach the center and rear panel together  
using 20mm Allen head bolts and washers.  
Don’t fully tighten at this time.

Remove OE fender flare and plastic liner  
(see Jeep documentation for instructions,  
if needed). 

1. Install U-Clips to the three fender liners panels.  
Notice the holes made for the U-clip is a larger  
oval hole. Take time to assure the U-clip is oriented 
correctly. The flat face of the U-clip faces forward.



 Copyright © 2020 Omix-Ada®, Inc.

	 Aluminum Inner Fender Liners Rear, JL

Page 3/3

460 HORIZON DR.  |  SUWANEE, GA 30024  |  PHONE: 770-614-6101  |  FAX: 844-270-0593  |  www.Omix-ADA.com

6. Completely tighten all hardware.  
When tightening make sure the panel does  
not bind or pitch any wires or lines. 

5. Two 35mm allen head bolt use washers and  
ny-lock nuts instead of threading into U-clips. 

4. If installing to OE fender: compare the inner 
fender to the OE fender. Remove the clips from the 
OE fender that share the same mounting holes has 
the inner liner. Now install the fender to the Jeep.

If installing after market fenders: there could be 
hardware needed to be removed to properly  
install the inner fender. Place inner liner into place 
to compare, remove the similar hardware.

Now place inner liner behind the sheet metal,  
feed 35mm allen head bolts through fender,  
Jeep body and thread into inner liner U-clip. 


